Calculus 12

Ch. 1: Limits and Rates of Change

Exercise 1.7 — Practice Problems

1. Find the sum of each of the following series or state that the series is divergent.
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2. Find the sum of each of the following series.
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Calculus 12 Ch. 1: Limits and Rates of Change

3. Express the following repeating decimals as fractions.
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4. For what values of x are the following series convergent? In each case find the sum of the series

for those values of x.
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is not a geometric series. Use your calculator to find the first eight partial sums of this series.
Does it appear that this series is convergent? If so, estimate its sum to five decimal places.
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6. The series ‘
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is not a geometric series.
a) Use your calculator to find its first 15 partial sums.
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b) Use the identity
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To find an expression for the nth partial sum S,,.
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¢) Use part b) to find the sum of the series
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d) How many terms of the series would be required so that the partial sum differs from the total
sum by less than 0.001?
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. 7. A right-angle triangle is given with £4 = 8 and AC = 1. CD is drawn perpendicular to AB, PE is
drawn perpendicular to BC, EF is perpendicular to AB, and this process is continued indefinitely
as in the figure below. Find the total length of all the perpendiculars

CD + DE + EF + FG + -+

In terms of 6.
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